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Q1. Choose the correct option: 

1) The place value of 5 in 2,54,009 is _________ 

a) 5 thousand                               b) 50,000                            c) ten thousand                     d) 5000 

  

2) The successor of 3,56,425 is ___________ 

a)  3,56,427                                 b) 3,56,424                          c) 3,56,426                          d) 3,56,420                     

 

3) 48,368 is greater than 

a) 49,456                                     b) 46,721                             c) 48,457                             d) 50,100                                    

  

4) The face value of 9 in 19,726 is ______ 

a) 9                                             b) 5                                       c) 6                                     d) 7 

Q2. Fill in the blanks: 

     1) The numeral for fifteen thousand four hundred and thirty-two is ______. 

     2) The short form for 5,00,000 + 70,000 + 8000 + 400 + 30 + 9 = ______. 

     3) The predecessor of the greatest 5-digit odd number is ___________ 

     4) 4,21,350____ 4,21,286(Put >,< or =) 

Do as directed: 

Q3. Write the number 744675 using commas after the periods and also write the number name. 

Q4. Write the expanded form of the number 78,104 

Q5.  Write place value and face value of all the digits in the number 45,235 

Q6. Arrange the given numbers in descending order. 

                  45, 809           7,44,984         3,72,915       58,956 

Q7. Directions: Each of the following questions contains an assertion followed by a reason. Read them 

carefully and answer the questions on the basis of the following options. 

a) Both assertion(A) and reason(R) are true and the reason is the correct explanation of 
assertion(A). 



b) Both assertion(A) and reason(R) are true but the reason is not the correct explanation of the 
assertion(A). 

c) Assertion(A) is true and the reason(R) is false. 

d) Assertion(A) is false and the reason(R) is true. 

Question 1 

Assertion (A): The place value of 7 in the number 37,582 is 7 thousand 

Reason (R): The place after the tens place is hundreds 
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